
Oxidation State Practice Problems

Oxidation state practice problems are an essential aspect of understanding redox
reactions and the behavior of elements in various compounds. The oxidation state, also
known as oxidation number, indicates the degree of oxidation of an atom in a chemical
compound. It is a useful concept in chemistry that helps in predicting how compounds will
react with each other. This article will delve into the fundamentals of oxidation states,
provide practice problems, and discuss solutions to enhance comprehension.

Understanding Oxidation States

Oxidation states can be defined as a theoretical charge that an atom would have if all
bonds to atoms of different elements were 100% ionic. These states are crucial for



determining how electrons are transferred in chemical reactions, particularly in redox
processes. The oxidation state can be positive, negative, or zero.

Rules for Determining Oxidation States

To calculate oxidation states, several rules are followed:

1. Elemental State: The oxidation state of an element in its elemental form is zero. For
example, O₂, N₂, and Fe all have an oxidation state of 0.

2. Monatomic Ions: The oxidation state of a monatomic ion is equal to its charge. For
example, Na⁺ has an oxidation state of +1, while Cl⁻ has an oxidation state of -1.

3. Oxygen: In most compounds, oxygen has an oxidation state of -2. Exceptions include
peroxides (where oxygen has an oxidation state of -1) and superoxides (where it has an
oxidation state of -1/2).

4. Hydrogen: Hydrogen generally has an oxidation state of +1 when bonded to nonmetals
and -1 when bonded to metals.

5. Alkali and Alkaline Earth Metals: Alkali metals (Group 1) always have an oxidation state
of +1, while alkaline earth metals (Group 2) have an oxidation state of +2 in their
compounds.

6. Halogens: Halogens typically have an oxidation state of -1, but can have positive
oxidation states when bonded to more electronegative elements.

7. Sum of Oxidation States: The sum of the oxidation states in a neutral compound must
equal zero, while in polyatomic ions, it must equal the charge of the ion.

Practice Problems for Oxidation States

Here are some practice problems designed to test your understanding of oxidation states.
Try to determine the oxidation states of the specified elements in each compound.

Problem Set

1. Determine the oxidation state of sulfur in the compound H₂SO₄.

2. Calculate the oxidation state of nitrogen in NH₃.

3. Find the oxidation state of chlorine in Cl₂O₇.

4. Identify the oxidation state of carbon in CH₄.



5. What is the oxidation state of manganese in KMnO₄?

6. Determine the oxidation state of iron in Fe₂O₃.

7. Identify the oxidation state of phosphorus in H₃PO₄.

8. Calculate the oxidation state of chromium in Cr₂O₇²⁻.

9. Find the oxidation state of copper in CuSO₄.

10. Determine the oxidation state of silver in AgNO₃.

Solutions to Practice Problems

Now that you have attempted the problems, let's go through the solutions step by step.

Solution Breakdown

1. H₂SO₄:
- Hydrogen: +1 (2 H = +2)
- Oxygen: -2 (4 O = -8)
- Let the oxidation state of sulfur be x.
- Equation: 2 + x - 8 = 0 → x = +6.

2. NH₃:
- Hydrogen: +1 (3 H = +3)
- Let the oxidation state of nitrogen be x.
- Equation: x + 3 = 0 → x = -3.

3. Cl₂O₇:
- Oxygen: -2 (7 O = -14)
- Let the oxidation state of chlorine be x.
- Equation: 2x - 14 = 0 → x = +7.

4. CH₄:
- Hydrogen: +1 (4 H = +4)
- Let the oxidation state of carbon be x.
- Equation: x + 4 = 0 → x = -4.

5. KMnO₄:
- Potassium: +1
- Oxygen: -2 (4 O = -8)
- Let the oxidation state of manganese be x.
- Equation: 1 + x - 8 = 0 → x = +7.

6. Fe₂O₃:
- Oxygen: -2 (3 O = -6)



- Let the oxidation state of iron be x.
- Equation: 2x - 6 = 0 → x = +3.

7. H₃PO₄:
- Hydrogen: +1 (3 H = +3)
- Oxygen: -2 (4 O = -8)
- Let the oxidation state of phosphorus be x.
- Equation: 3 + x - 8 = 0 → x = +5.

8. Cr₂O₇²⁻:
- Oxygen: -2 (7 O = -14)
- Let the oxidation state of chromium be x.
- Equation: 2x - 14 = -2 → x = +6.

9. CuSO₄:
- Sulfate (SO₄²⁻): S = +6, O = -2 (4 O = -8) → total = -2.
- Let the oxidation state of copper be x.
- Equation: x + 6 - 8 = 0 → x = +2.

10. AgNO₃:
- N: +5 (O = -2, so for -3, N must be +5)
- Let the oxidation state of silver be x.
- Equation: x + 5 - 6 = 0 → x = +1.

Conclusion

Understanding oxidation states is crucial for mastering various concepts in chemistry,
especially redox reactions. By practicing problems such as those presented here, you can
solidify your knowledge and improve your problem-solving skills. As you continue to study,
remember the fundamental rules for determining oxidation states, and apply them
consistently to different chemical compounds. This will not only help you in academic
pursuits but also in practical applications in fields such as chemistry, biochemistry, and
environmental science.

Frequently Asked Questions

What is the oxidation state of sulfur in H2SO4?
The oxidation state of sulfur in H2SO4 is +6.

How do you determine the oxidation state of chlorine in
NaClO3?
In NaClO3, chlorine has an oxidation state of +5, calculated by considering the -2 oxidation
state of each oxygen and the overall neutral charge of the compound.



What is the oxidation state of nitrogen in NH4+?
The oxidation state of nitrogen in NH4+ is -3.

What is the oxidation state of carbon in CO2?
The oxidation state of carbon in CO2 is +4.

In KMnO4, what is the oxidation state of manganese?
In KMnO4, the oxidation state of manganese is +7.
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